Math Review -- KEY
Algebra:
1) K=C +273.15 (solve for C)

(subtract 273.15 from both sides) K —273.15=C +273.15-273.15 - K-273.15 = C

2) PxV =nxRxT (solve for R)

(divide both sides by T) PV _nxRx o PxV_ . o
T hd T
(divide both sides by n) PxV _AxR 5 PxV_ o
Txn }7{ Txn
3) PxV =nxRxT (solve for V)
(divide both sides by P) PV _nxRxT 5, _nxRxT
)4 P P
4) M: 2z (solve for w)
. . 67w —-y+3
(multiply both sides by 6) KXT =2zx6 > 67/w-y+3=12z
(subtract 3 from both sides) 6/w—-y+3-3=122-3 > 67w-y=12z-3
(add y to both sides) 6/w—y+y=12z-3+y > 67w=12z-3+y
(divide both sides by 67) STw _12:-3+y | 122-8+y
67 67 67
F-32
5 C :u (solve for F)
1.8
_ _ (F -32)
(multiply both sides by 1.8) 1.8xC = 7 x18 > 18xC=F-32

(add 32 to both sides) 32+18xC=F-32+32 > 32+18xC=F



RxS Y xZ

6) (solve for Y)
T
(multiply both sides by W) WxRxS _YxZxW o WxRxS_, .
T w
(divide both sides by 2) WxRxS YxZ — WxRxS .
TxZ 4 TxZ
7) RXS:YXZ (solve for T)
T
(multiply both sides by T) I/XRXS:YXZXT N Rxszﬁ
v W W
(multiply both sides by W) WXRXS:W > WxRxS=YxZxT
(divide both sides by 2) WxRxS _YxZxT o WxRxS_,
Z y4 Z
(divide both sides by Y) WxRxS YxT o WxRxS .
ZxY Y ZxY

8) 50.0x4.18x (T —23) =—62.7x0.312x (T —142)

50.0x4.18x (T —23) =—62.7 x0.312x (T —142) > 209 (T —23) = —19.5624x (T —142)

209 x (T —23)  —19.5624x (T —142)

(divide by 209) > T-23=-0.0936x (T —142)

209 209
(distribute -0.0936) T-23=-0.0936 xT —0.0936 x-142 > T —23=-0.0936T +13.2912
(add 23 to both sides) T -23+23=-0.0936T +13.2912+23 > T =-0.0936T +36.2912

(add 0.0936T to both sides) 0.0936T + T =-0.0936T +36.2912+0.0936T ->1.0936T =36.2912

(divide by 1.0036) 229361 _36.2912 o o 45

1.0936  1.0936




n

9) x100 = 23.71
781.2
(multipl i Lote XN 100 = _
oly both sides by 781.2) 222 XN 100 =2371x781.2 > nx100=18522.252
(divide both sides by 100) n>x160 18522252 | _igq,
100 100
10) %xmo ~76.2
(multiply both sides by d) %xmo =76.2xd > 0.113x100=76.2xd
(divide both sides by 76.2) 0113x100 762 xd 4 149_
76.2 167
11) @xlooz p > 6927=p
16.11
12) 20 100-281
25.0+s

(multiply both sides by 25.0 + d)
M 25.0 x100=28.1x(25.0+s) > 25.0x100=28.1x(25.0+5s)

25075

25.0x100 28T1x(25.0+5) 5 25.0x100

divide both sides by 28.1 =
( y281) 28.1 281 28.1

=25.0+s

(subtract 25.0 from both sides) 88.968—-25.0=25.0+5s-250 > 640=s
Simplify the following:
1) x2x' > X > X

k8
2~ > Kk > K
k



3) a11.3‘77 S a‘ll+(—7) S a'4
) — > ws> W
5) rPe— > rlaht’ > et > A’

6) (4m)’ >  #m’ >  64m’

7 in Y 1%n? n’
2.14m 2.14°m? 4.58m?
2 3 2 2 3 2
8) azxp—zx—zx% %Xu—vlenW > azxvxgxf—z dEX—lxn— >
52 3 2 3-2 .2
S U



